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aWt g77 Ffow

SECTION - A (11T - &)

1. (a) Differentiate between a sentence and a proposition.

(6)
T qA TharET A We T |

OR (3trar)

Explain the rules of conversion with the help of
examples.

TRaaw & e = Ierwr aka sren #ifve
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(b) Reduce the following propositions into logical form.

o oo = s R ¥ aRafdq fRw 1

(i) Pilots are always well paid.

faw -t 939 IS AT Wl © |

(ii)) A few leaders are corrupt.
FT AW U T
(iii) Scientists are never fools.
;s I | @ T B
(iv) Not all fruits are juicy. 4)

o B @ TE B
OR (3rexar)

Give the contrary and contradictory of the

following :

ffofae & fagde @ =amEmt R :
(i) No saints are sinners

% F Wy TR T AN

(i) Some biscuits are crunchy

%o fwge Ft oW T
P.T.O.
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2. (a) Test the validity/invalidity of the following (amy
two) :

ffafee &t Juar/sdua wRe (@B of @)
() AAA -1I
(i) EIO -1V
(i) AII -1 (6)
OR (3rerar)

Prove that the major premise must be universal in

the first figure.

g HiRw & wom ser ¥ g MR I w1l ad=rd
B =Ry |

(b) Explain the six rules of a valid categorical

syllogism. ’ (4)
Ju e gl @ o Ao 9 oren @R
OR (3reran)

Explain and illustrate the fallacy of illicit major
and the fallacy of illicit minor.

FFafia 1 9T 9@ qu afafi P U deey
F AT IAEWT Ao T |
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SECTION - B (V11 - &)

3. Use truth tables to find out whether the following are

tautologous, contingent or contradictory (any two) :

weraien ffy g FuiRa e & Feffe ¥ @ =9
¥ I, W Jva oA ® (@ oft /@)

@ [poa):(a>p)] = (p=9)

G) [xo(y22z)]o(xVv~2)

(i) pve=(*~9q) (5x2=10)

4. Determine the validity/invalidity of the following using
shorter truth table method (any two) : (5%2=10)

7y geaRn Ry aw feffer 6 duar/ e FuiRa
@ p-q2lpvag) 1)
(@ [(p2q - (@>d1)]>(p>1)

(i) pogq
r/. (pr~q)
5. (a) Define any two of the following: (3x2=6)

ol ¥ ¥ el & = Rl <ifse
@) 'p* (qvr) in stroke function

pr(qve) W EE o A
P.T.O.
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(i) (p>q) - r' in terms of disjunction and

negation.

(p>q) - r A e T fder &

(iii) '(pvq) o' in terms of conjunction and

negation.

(pvqDOr H wIASH qA e A

(b) If P, Q and R are true and A, B and C are
false, determine the truth or falsity of the following

(any two) : (2x2=4)
IR P,Q I RAUT 2 3 A,B 3R C ™™ 2, @
e = T o sean MuiRa ik (@
oft =)

(i) (A>Q)>(~P=B)

i) P>2Q)>[(A-R)v(C-~Q)]

(i) [(QvB)* (RvC)]D(PDA)

6. (a) Construct formal proof of validity for the following

arguments (any one) : 6)
Frefafas & sreRe o & g i (g of
q&) : '
i CvD
~C

DoE /.. EvC
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i) PoQ
QoR
RoS
~S
PvT /. T

(b) Symbolize any two of the following propositions
using quantifiers and propositional constants :

ﬁmﬁ%ﬁ%ﬁﬁﬁﬁﬁq@mﬁ?ww
A THAFE AR T AARIET T

(i) Not all snakes are poisonous. (Sx, Px)

o @w fage =& 81 (Sx, Px)

(ii) Some even numbers are prime numbers.
(Ex, Px)
%o 9 % mufw iw €1 (Ex, Px)

(iii) All education is informative. (Ex, Ix)
oot fBrer g 21 (Ex, Ix) (2x2=4)
SECTION - C (¥ - 9)

7. (a) What is a fallacy ? Differentiate between a
formal and an informal fallacy with the help of

examples. (®)

Ay T 27 IR GRT MU=k T T

FRTRe: T A HR W RT |
P.T.O.
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OR (3rrar)

Write short notes on the fallacy of composition

and the fallacy of division.

o qeew qul Raee geew W odfrd oo
forfes 1

(b) Identify and explain the fallacy committed in any
two of the following : N

fFrafiRag Serw & fsft S & Il = ysaY o
I AT HI
(i) An elephant eats more than a human, so all

the elephants in the world eat more than all

the humans on the earth.

T BT Uw W ¥ w2, dw: e e

TN T gl & W A ¥ e ww g
(i) Have you stopped illegal practices ?

T HAY W HEEN FF FF S8 I U 27

(iii) Five crore people buy sauna belt, so you must
buy a sauna belt.

T FAT AN AT See @lded 7, A 9 of @
doe @ART |
(200)



